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1 = goo E 600,000
T2 = goo E 230,000
T2 = goo E 230,000
4 = goo E 100,000
T5 = goo E 82,500
T5 = goo E 82,500
T7 = goo E 72,500
T7 = 00 E 72,500
9 ("] goo E 65,000
10 = goo E 62,000
T11 = goo E 57,500
T11 = oo E 57,500
T13 = ooo E 52,000
T13 = ooo E 52,000
T15 = ooo E 47,100
T15 = ooo E 47,100
T15 ("] O00O0Oe OO E 47,100
T15 = ooo E 47,100
T15 = ooo E 47,100
T20 = ooo E 43,500
T20 = ooo E 43,500
T20 = ooo E 43,500
T20 = ooo E 43,500
T24 = goo E 40,500
T24 = goo E 40,500
T26 = g E 37,000
T26 = ooo E 37,000
T26 = ooo E 37,000
T26 = ooo E 37,000
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T39
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T41
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T46
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T48

50

51
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goo

goo
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goo

goo

ooags2

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

37,000
32,500
32,500
32,500
29,500
29,500
27,000
27,000
27,000
24,750
24,750
23,750
23,750
22,750
22,750
22,000
21,250
21,250
19,000
19,000
17,000

16,000
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